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Homework #1 
 

Problem 1. Add the vectors  Ԧܽ ൌ ቂെ3
2
ቃ and  ሬܾԦ ൌ ቂ4

6
ቃ 

   

          Answer:	 Ԧܽ ൅ ሬܾԦ ൌ ቂ1
8
ቃ 

 

Problem 2. a) Subtract vector  ሬ݇Ԧ ൌ ቂ5
2
ቃ from vector Ԧ݈ ൌ ቂ1

2
ቃ 

        b) Subtract vector  Ԧ݈ ൌ ቂ1
2
ቃ  from vector   ሬ݇Ԧ ൌ ቂ5

2
ቃ 

a) 

   
 
 

Answer:	Ԧ݈ െ ሬ݇Ԧ ൌ ቂെ4
0
ቃ 

 

b) 
  

 
 
 

Answer: ሬ݇Ԧ െ Ԧ݈ ൌ ቂ4
0
ቃ 
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Problem 3. a) Multiply the vector ݍԦ ൌ ቂ2
2
ቃ by 2 and add it to vector ݓሬሬԦ ൌ ቂെ4

െ2
ቃ 

        b) Multiply vector ݓሬሬԦ by 1.5 and add it to ݍԦ. 
        c) Multiply vector  ݓሬሬԦ by ‐2  and subtract the vector ݍԦ. 

a)  

   
 
Answer:	2 ቂ2

2
ቃ ൅ ቂെ4

െ2
ቃ ൌ ቂ0

2
ቃ 

 

b)  

 
 
  
Answer: 1.5 ቂെ4

െ2
ቃ ൅ ቂ2

2
ቃ ൌ ቂെ6

െ3
ቃ ൅ ቂ2

2
ቃ ൌ ቂെ4

െ1
ቃ 

c) 

   
 
Problem 4. Add all the vectors: 

 

 

 

 

Answer:	ቂെ4
2
ቃ ൅ ቂ3

2
ቃ ൅ ቂ 2

െ3
ቃ ൌ ቂ1

1
ቃ 
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Answer:െ2 ቂെ4
െ2

ቃ െ ቂ2
2
ቃ ൌ ቂ8

4
ቃ െ ቂ2

2
ቃ ൌ ቂ6

2
ቃ 
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